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Part I Reading Comprehension -0
Questions 1 to § are based on the following passage: v Co

~ Many objects in daily use have clearly been influenced by science. Many features and
qualities of the objects that a technologist thinks about cannot be reduced to unambiguous
verbal descriptions; they are dealt with in the mind by a visual, nonverbal procéss.
Pyramids, cathedrals, and rockets exist not because of geometry or thermodynamics, but
because they were first the pictures in the minds of those who built them.

The creative shaping process of a technologist’s mind can be seen in nearly every skill
that. exists. For example, in designing a diesel engine, a technologist might exptess
individual ways of nonverbal thinking on the machine by continually using an:intuitive sense
of rightness and fitness. Where should the valves be placed? Would it have a long or short
piston? Such questions have a range of answers that are supplied by experience, by physical
requirement, by limitations of available space, and not in the least by a sense of form. Séme
decisions, such as wall thickness and pin diameter, may depend on scientific calculations,
but the nonscientific component design remains primary.

 Design courses, then, should be an essential element of engineering curricula.
Nonverbal-thinking, a central mechanism in engineering design, involves perceptions,":the
special technique of the artists, not the scientist: Because perceptive processes are ‘not
assumed to need “hard thinking”, nonverbel thought is sometimes seen as a primitive stage
in the development of cognitive processes and inferior to verbal or mathematical thoughti; -

If courses in design are not provided, we can expect to encounter silly but costly errors
occurring in advanced engineering systems. For example, early modes of high-speed railroad
- cars loaded with sophisticated controls were unable to operate in a snowstorm because the
fan sucked snow into the electrical system. Absurd random failures that plague automatié¢
control systems are not merely trivial aberrations (3t %), they are a reflection of the chaos
that results when design is assumed to be primarily a problem in mathematics.

1. In the passage, with what is the author:primarily concerned?
A) Identifying the kinds of thinking technologists use. RO
B) Stressing the importance of nonverbal thinking in engineering design.
C) Proposing a new role for nonscientific thinking in the development of technology. .

D) Contrasting the goals of engineers with those of technologists.

2. As an example of nonverbal thinking, all of the following is mentioned except C
A) building cathedrals B) designing diesel engines
C) creating rockets D) making automobiles

3. It can be inferred that the author thinks engineering curricula is oo
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A) strengthened when they include courses in design
B) weakened by the courses designed to develop mathematical skills
C) strong because nonverbal thinking is still emphasized by most of the courses
D) strong despite the absence of nonscientific modes of thinking
4. The early models of high-speed railroad are used to
A) support that the number of errors in modern engineering systems is likely to increasq
B) illustrate the courses in design are the most effective means of reducing the ocost af
designing engineering systems
. C)icriticize that mathematics is a necessary part of the study of design
D) weaken that modern engineeting systems have major problems : i
5. 'The last sentence of the passage suggests R
A ) automatic control systems are designed by engineers who have little practical
experience in the field
B) the failures are features of systems designed by engineers relying on concepts: in
mathematics
- ) designers of automatic control systems have little training in the analysis of mechanical
-difficulties
D) designers of automatic control systems need more help from scientists who betge:
.understand the analytical problems . Vi
Questions 6 to 10 are based on the following passage:
+ A father’s relationship to his child’s future academic success and the level of his ar her

development in a academic potential and scholastic achievement are both factors with somd

rather interesting implications that educators are beginning to study and appraise. As a
matter of fact, “life with father” has been diseovered to be a very important factor -in
determining a child’s progress or lack of progress in school. R
A recent survey of over 16 000 children in London revealed that children whose fathers
came to school conferences and accompanied their children on outings did measurably hetter
in school than those children whose fathers didn’t. The study, which monitored childeen
born during a week in March, 1958, further revealed that the children of actively involved
fathers scored as much as seven times higher in reading and math than did those children
whose only involved parent was the mother. The purpose of the study was to evaluate the
role played by fathers in the raising of a child. Over 66% of the fathers were said to have
played a major role in parental responsibility. A
The study also suggested that the greatest level of paternal parenting took place in the
families of only children.. As the number of children and financial obligations increased, the
father’s apparent interest and involvement with the children decreased. However, no matter
what the size or financial condition of the family, a father’s active participation in the child’s
development made a definite difference in the child’s progress. The data from the study was
obtained primarily through interviews from paremS, teachers and physicians. The
information evaluating the level of the father’s parenting performance was elicited (3k78)
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primarily from the admittedly subjective observations of their wives.
6. The most unusual discovery implied in the study was that . -
A) children in large families tended to do poorly in school
B) a father’s influence played a significant factor in the level of child’s academic progress
C) mothers were subjective in evaluating the roles played by fathers N
D) there was correlation between socioeconomic status and scholastic achievement
7. The data accumulated was obtained through
.A) conversations with mothers of the children . STPRNT
B) interviews, school records and reports ' by
C) observation of fathers with their children
D) intensive objective testing
8. All of the children studied
A) attended the same school
B) lived in the same neighborhood
C) were in the same socioeconomic class
D) were of the same age ’ : . i
9. Children who tended to generally progress academically were
A) those whose mothers gave them the most affection
B) children who had been given a balanced diet
C) those whose fathers worked the night shift
D) those who had no brothers and sisters
10. Evidence indicated that a high percentage of fathers were involved in the pare‘nting'

process, which amounted to . o

A) about two-thirds of the fathers involved in the study

B) a little less than one hundred percent of all fathers

C) more than three-quarters of all the fathers i

D) slightly more than one-third of the fathers
Questions 11 to 15 are based on the following passage:

If you look at some of the early copies of the Declaration of Independence, beyond the
flourished signature of John Hancock and the other 55 men, who signed it, you will alse find
the name of one woman, Mary Katherine Goddard. It was she, a Baltimore printer, who
published the first official copies of the Declaration, the first copies that included the names
of its signer and therefore heralded the support of all thirteen colonies. R

Mary Goddard first got into printing- when she was at the age of twenty-four.: Her
brother opened a printing shop in Providence, Rhode Island, in 1762. When he proceededtd
get into trouble with his partners and creditors, it was she and her mother who were left:tq
run the shop. In 1765 they began publishing the Providence Gazette, a weekly newspaper:.
Similar problems seemed to follow her brother as he opened businesses in Philadelphia and
again in Baltimore. Each time Ms. Goddard was brought in to run the newspapers. After
starting Baltimore’s first newspaper, The Maryland Journal, in 1773, her brother went
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broke trying to organize a colonial postal service. While he was in debtor’s prison, Mary’s
name appeared on the newspaper’s masthead for the first time.

When the Continental Congress fled there from Philadelphia in 1776, it commissioned
Ms. Goddard to print the fifst official version of the Declaration of Independence in Janudry,
1777. After printing the documents, she herself paid the post riders to deliver the
Declaration throughout the colonies.

During the American Revolution, Mary Goddard continued to publish Baltimore’s only
newspaper, which one historian claimed was “second to none among the colonies. ” She was
also the city’s postmaster from 1775 to 1789—appointed by Benjamin Franklin—and is
considered to be the first woman to hold a federal position.

11. With which of the following subjects is the passage mainly concerned?

A) The accomplishments of a female publisher.

B) The Declaration of Independence and the newspaper industry.

C) The contribution of a female publisher to American history.

D) The publishing system in colonial America.

12. Mary Goddard’s name appears on the Declaration of Independence because

A) she helped write the original document

B) she published the document

C) she paid to have the document printed

D) she sent the post riders to deliver the document.

13. According to the passage Mary first became involved in publishing when she

A) was appointed by Benjamin Franklin

B) signed the Declaration of Independence

C) took over her brother’s printing shop

D) moved to Baltimore
14. The underlined word “heralded” in paragraph 1 is closest in meaning to

A) influenced B) announced C) rejected D) ignored
15. It can be inferred from the passage that Mary was

A) an accomplished businesswoman

B) saving her brother from debt.

C) a member of the Continental Congress

D) a famous postmaster
Questions 16 to 20 are based on the following passage :

In the 1500’s when the Spanish moved into what later was to become the southwestern
United States, they encountered the ancestors of the modern-day Pueblo, Hopi, and Zuni
peoples. These ancestors, known variously as the Basket Makers, the Anasazi, or the
Ancient Ones, had lived in the area for at least 2 000 years. They were an advanced
agricultural people who used irrigation to help grow their crops.

The Anasazi lived in houses constructed of adobe and wood. Anasazi houses were
originally built in pits and were entered from the roof. But around the year 700 A. D. the
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Anasazi began to build their homes above ground and join them together into rambling
multistoried complexes, which the Spanish called pueblos or villages. Separate subterranean
rooms in these pueblos—known as kivas or chapels—were set aside for religious
ceremonials. Each kiva had a fire pit and a hole that was believed to lead to the underworld.
The largest pueblos had five stories and more than 800 rooms. o

The Anasazi family was matrilineal; that is, descent was traced through the female,
The sacred objects of the family were under the control of the oldest female, but the actmal
ceremonies were conducted by her brother or son. Women owned the rooms in the pueblo
and the crops, once they were harvested. While still growing, crops belonged to the men
who, in contrast to most other Native American groups, planted them. The women made
baskets and pottery; the men wove textiles and crafted turquoise jewelry. i

. Each village had two chiefs. The village chief dealt with land disputes and religious
affairs. The war chief led the men in fighting during occasional conflicts that broke out with
neighboring villages and directed the men in community building projects. The cohestve
political and social organization of the: Anasazi made it almost impossible for other groups to
conquer them, » . . C
16. What does the passage mainly discuss?

A) The culture of the Anasazi people. -

B) The family of the Anasazi people.

C) The construction of Anasazi houses.

- D) Political structures of Anasaki people.

17. The Anasazi people were considered “agriculturally advanced” because of the way: they

A) stored their crops B) fertilized their fields
C) watered their crops D) planted their fields
18. Which of the following activities was not done by Anasazi people?
A) They enjoyed a reputation of making excellent baskets.
B) They were good at planting crops with skills.
C) They were constructing a variety of houses.
D) The men wove cloth and produced the jewelry.
19. According to the passage, what made it almost impossible for other groups to conquer
the Anasazi?
A) The political and social organization of the Anasazi.
B) The military tactics employed by the Anasazi.
C) The Anasazi’s agricultural teéhnology. ‘
D) The natural barriers surrounding Anasazi villages.
20. The passage supports which of the following generalization? BT
A) The Anasazi people were good warriors.
B) The ‘Anasazi people usually lived with their brothers and fathers.
C) Anasazi society exhibited a well-defined division of labor.
o5



* D) Conflicts between neighboring Anasazi villages were easily resolved.

Part I Short Answer Questions

The La Nina weather phenomenon—translated as “the little girl”—is characterized by
abnormally (JL% #s) cold ocean conditions in the eastern equatorial Pacific. It brings revérse
weather conditions to El Nino. Areas blighted by El Ninogenerated drought, like Southeast
Asia, tend to get unusually heavy rains and sometimes floods. ‘

La Nina is already developing and may bring heavy rains to Southeast Asia within the
next few months. Sea surface temperatures in the eastern Pacific, which had risen under E}
Nino to about 5 Celsius above normal, hitting 32 Celsius (89. 6 Fahrenheit) in some places,
had already fallen below normal, mainly along the equator. There was growing agreement
. among weather experts that La Nina would make its appearance later this year. The main
impact of a La Nina would be on Australia and parts of Indonesia, Iran, Java and Celebes,
where more rain than usual is likely. ;

Southeast Asia is currently in a normal southwest monsoon (FR,) period, which lasts
from May to October and brings heavy rain to northern areas. It brings dry weather to
southern areas of the region like Indonesia, Singapore and Malaysia from June to August
before the rains return. Last year’s dry season, aggravated by El Nino, caused a widespread
drought which parched forests and farmland, turning landclearing fires in Indonesia into an
inferno (3R) which blanketed much of the region with smog. Indonesia’s fires, mostly on
~ the island of Sumatra, inflicted damage of more than US $ 4. 4 billion as 5 million hectares of
forest, farmland and bush went up in smoke.
Questions
1. brings drought to Southeast Asian while heavy rains and flood.

2. What shows that La Nina is developing? -
3. What weather does monsoon bring Southeast Asia?
4. How many months does the monsoon period in Southeast Asian usually last?

5. What is the direct cause of the fire.in Indonesia last year?
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Part I. Short Answer Questions

1.

El Nina; La Nina
MNE—BE_AURNERERAEREERARELN —MHSKREL, EMHAMBXRE
EREKBKZE MERBENHERTENTE.

The drop of sea surface temperatures in the eastern Pacific.

ME_BETREI Nino RER AN  HAREMNEBEKBELENERBE S HEE,TRE
RARFEFRE-FROEKEECRIEXFEFVERESIT. IXW—HERNSEERE
ERZH. :

Rains to the northern areas and dry to the southern.

BEBAERFRMNABEMRERS AZI0ANZERERAEH, CHERN A RME L

R EE 4 B R A R B SR AFAE

. S‘x.

AB=ZBFE—OTAAEEBXEXMNERET NS ARHFLA 10 ARt e 1A,

. Land-clearing fires.

% = B " K “turning land-clearing fire. . . into an inferno”, Ff A i 4b f B £ 8 B A £ JE /R

AR, RN BB R HFE.



